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Note —

Answers may be written efther in English or in Hindi;

but the same medium should be used t-hroughout the .
paper.
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Attempt All questions. Log tables and other tables shall’
be provided on demand. Use of simple calculator is
allowed.
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(2) 7637 |
A firm owns two machines M.l and M, cqsting Rs. 45,000 and
Rs. 30,000. Both machines have a life of 5 years with zero scrap
value. Compute depreciation of both machines for each year using

matrix notation :
- () both are depreciated by sum of the years di,git method;
(fi) both are depreciated by straight line method;

@iy if first machine is depreéiated by sum of the years Higit
method and second by straight line method.
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Or
(3reram)

A salesman has the following records of sales d_uring three
months for three items A, B and C which have different rates

of commission :

Monthsv Sales of uflits Total Commission (Rs.)
A B C

January %0 100 20 800

'Fe'b‘ruary‘ 130 — 50 40 900 -

March 60 100 30 850

Compute rates of commission on items A, B and C. 7
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(4) 7637
(@) The demand function for a commodity is }g‘iven by :
X =20 ~ 2P - P?

‘Where P and X are pric'e and quantity demanded
respectively. Compute elasticity of demand for P = 2.5

and for which demand the elasticity will be unity.
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A company produces X units of output at a total cost

2 2 2 H
of EX — 12X< + 25X. Find :

() Output at which marginal cost is minimum,
(#)  Output at which average cost is minimum, and

(éif)  Output at which marginal cost is equal to average

cost.
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A manufacturer can sell X units per day at a price P rupees
each, where P = 125 — (5/3)X. If the cost of producing
X items is 500 + 13X + 0.2X2, find how many units he
should produce to earn a maximum profit assuming éllv
items produced can be sold. What is that profit ?
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Or
(3teram)

A machine costs Rs. 14,000. Its cost of .operation of X
years is given by 20X% + 15X. Its scrap value at the end
of X years is given by 7520 — 60X2. Find the total and
average cost function. Also compute the time after
which the machine should be replaced so as to minimize

the average cost.
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Marginal cost function of manufacturing X pair of
shoes is 6 + 10X — 6X2. The total cost of producing a
pair of shoes is Rs. 12. Find the total and average cost

function. .
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Or
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If the marginal revenue function for output X is given

by :

find the total revenue function and the demand

-

function. 3Ix4
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A man borrows Rs. 750 from moneylenqer and the bill
is renewed after every half year at an increase of 21%.
After how much time the amount of bill will become

Rs. 7,500.
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Or
(3teram)

In how many quarters Rs. 10,200 will become Rs. 20,000

at 9% converted quarterly ?
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Mr. X depositéd Rs. 10,000 in a bank for 3 years offering
interest @ 6% compounded half yearly during first year,
@ 12% compounded quarterly during second year and
@ 10%rcompounded continuously during third yéar.

Compute his balance after 3 years.
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Which is a better investment, 9% per year compounded

quarterly or 9.25% effective ? 3+3
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